SNO.__[NAME HINDI__[GRADE _[ENG GRADE _|MATHS [GRADE _[SCIENCE |GRADE _[SOCIAL _|GRADE _|TOTAL _|PERCENTAGE
1|BHAVYA PARIHAR 89[n2 74[82 sa[a1 7082 83[B1 400 80
2|bIvvA DHOOT 85[n2 78[81 70[A2 7181 92[n2 3% 792
3| LEELA SARAN 82[B1 66c1 sa[B1 43[o1 89[A2 334 668
a[RITU RAJ RATNU 7582 80[B1 70[A2 65[82 86[B1 376 752
5| MONIKA 90[a1 70[c1 78[A1 ss[c1 88[a2 381 762
6| ROSHNI 80[B1 s52[p1 a0[c2 a1[o1 66[c1 279 55.8
7|suman 80[B1 70[c1 s52[82 as]ca 68[c1 315 63
8[vimLA nla 74[82 70[A2 a1[o1 86[B1 344 6838
9| ABHISHEK 88[n2 71la 96[A1 81[a2 90[A2 426 852
10| BHUPENDRA DUDI 69]c2 sa[p1 alcr 22[p1 70[c1 278 55.6
11]DINE: 61[p1 s9lc2 s52[82 0[o1 88[n2 300 60
12| GAJENDRA SANKHLA 6001 5601 A 8]ca 70[c1 306 612
13| GAURAV TAK 77[82 70[c1 sa[a1 salcy 70[c1 355 71
14| HANUMAN 95[A1 95[A1 91[a2 95[a1 97]A1 473 9.6
1 88[n2 96[A1 73[B1 85[a2 88[a2 430 86
16| KUNALJANGID 6alc2 71|c1 5481 s3lc1 55[p1 297 59.4
17| KUNAL MAHAWAR 7alc1 7682 76[B1 7581 93[a1 304 78.8
18| LAXMAN 70[c1 72[82 53[B2 a6]ca sa[o1 205 59
19]LUCKY MAHAWAR 86[A2 82[81 8a[n2 95[a1 95[A1 442 884
0| MANOHAR 80[B1 65|C2 53[B2 s0[c2 9a[a1 342 684
21[pivush 7la 53[p1 65[A2 salcy 77|82 321 642
7la 67]c1 60[B1 as]ca 77|82 321 642
23[SATYAPAL SINGH 23[02 47]02 33[02 22[p1 s0[p1 215 43
24TushaR 86[A2 80[B1 6582 67[82 88[a2 386 77.2
SUBJECT [ENGLISH
GRADE _|A1 A2 81 82 c1 2 D1 02 TOTAL
N 2 ) a a 7 2 a 1 2
w 8 7 6 5 a 3 2 1
N'W 16 ) 2 20 28 6 8 1 103
ENGLISH PI=(N*W)*100/n*8  53.64583
SUBJECT [HINDI
GRADE _|A1 A2 81 82 c1 = D1 D2 TOTAL
N 2 6 a 2 5 2 2 1 2
w 8 7 6 5 a 3 2 1 SUBJECT | MATHS STANDARD
N'W 16 a2 2 10 20 3 a 1 123 GRADE _|A1 A2 81 82 c1 c D1 02 TOTAL
N 0 2 2 1 o o o o 5
HINDI N*W)*100/n*8 64.0625 w 8 7 6 5 4 3 2 1
NW 0 14] 12 5 o o o o 31
MATHS _|PI=(N*W)*100/n*8 715
[SUBJECT [SCIENCE
GRADE _|A1 A2 81 82 c1 = D1 D2 TOTAL
N 2 2 2 3 a 5 3 [ 2
w 8 7 3 5 a 3 2 1
N'W 16 1 12 15 16 15 12 o 100
SCIENCE N*W)*100/n*8  52.08333
SUBJECT [MATHS
GRADE _|A1 A2 81 82 c1 = D1 D2 TOTAL SUBJECT | MATHS BASIC
N a 7 5 5 1 1 [ 1 2 GRADE _|A1 A2 81 82 c1 c D1 02 TOTAL
w 8 7 3 5 a 3 2 1 N 4| 5 3 4 1 1 o 1 19
N'W 32 49 30 25 a 3 o 1 144 w 8 7 6 5 4 3 2 1
NW 32 35 18 20 4 3 o 1 13
MATHS N*W)*100/n*8 75
MATHS _|PI=(N*W)*100/n*8 7434211
sussect [sociaL
GRADE_|A1 A2 81 82 1 =3 D1 D2 TOTAL
N a 7 3 2 5 o 3 o 24
w 8 7 3 5 a 3 2 1
N'W 32 49 18 10 20 of 6 o 135
SOCIAL N*W)*100/n*8 703125

SCHOOL PI=63.02




